th2 1] A BD & aABC 9] 5410|311 BP = PD ©|t}. AABC 9]

Hol7}F 24cm? & ©f], AAPC 9] Yol=?
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O 8cm? @ 10cm? ®)12cm?
@ 15cm? ® 18cm?

AABD = %AABC , AMAPD = %AABD ojty. AAPD =

1 1 1
3AABD = ZAABC = 2 x 24 = 6 (cm?) ©]B & AAPC =

2AAPD = 12(cm?) o]t}
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- AD = 18 (cm)
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B

A ML AABCO] 9Ao]22 AM =BM = CM = 6 (cm)
A G AABCO BAZAolE2 AG:GM=2:1
— 2

AM:§x6:4(cm)

S AG

[SVRI )




o2 28 elA A G+ aABC O] FAIFA I AD = 18ecm & o,
HG 9] Zoj&=?

A

@ 2cm @3CH1 ® 4cm @ 5cm ® 6cm

AF = BF , AE = CE°]B.2 FE//BC
AH:AD=AF:AB=1:20]22 AH =
A G £ AABC 9 FAIFAoIER AG =

12 (cm)
~HG=AG-AH=12-9=3(cm)
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1 1 1
AEBD = —AEBF = — x =AABC
2 2 3
1 2
== X 36 = 6 (cm?)
2 2 ,
AEBG:EAEBD: §x6:4(cm)




thS 133} o] AABC 2] Al Hlo] FH o]
ZYZF D, E, F ©]a1 ADEF 9] ¥0]7} 3cm? ©]
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@ 2 cm? @ 3cm? ® 4cm?

@ 5cm? ® 6cm?
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ADEF = leAABC ojlmg
(AABC 9] Ho])=3x4 = 12(cm?)

1
AGBE = EAABC = é X 12 = 2(cm?)




HRAPAY ABCD o4 A M, N & 27} A D

BC, DC ¢ £#o|3 MN = 15¢cm < o, W
PQ 9] Aol FatH? N
aved

® 8cm @IOcm @ 1lcm B M C

@ 12cm ® 14cm

B

AP, QL ZH2 AABC, AACD o] 2AFAo|B2 BP = PQ =
QD °]a
BD =2MN = 30cm °|2&

w2t PQ = %@ =10cm




9. o3 IO"HA H G, 2 ZZ AABD , AADC 9] FAFA ot}
BC = 12ecm ¥ o), GG’ 9] dol=?

>

@ lem @ 2cm ® 3cm @4(:111 ® 5cm

~&B ~

AGSHAG 9| A4 BC 99| 18€ 247 P,Qekx ohe
BF = PD, DQ = CQ

.'.mzéﬁzﬁ(cm)

AAGQE I AAPQOIA AG : G'Q=2:1,AG:GP=2:1,
/A= ZEO|HZ AAGG 0 AAPQ
GG :PQ=AG:AP=2:3°|22 GG’ :6=2:3
3GG =12
.. GG” =4 (cm)
A




10. o2 1984 ¥ G, ¢ &= ZZ AACD
ADBC 9] #£A54oltt, AB = 27cm &
o, GG’ 9] Zdo]& F5tH?
@Qcm @ 10cm ® 1lcm

@ 12cm ® 13cm

B

DC o FHME3od

GG’ :AB=MG:MA=1:3
GG’:%X27:9(cm)




11. o2 aABC 94 H P,Q v 44 & 54 AD ,BE 9] FHolt}.
AABC = 48cm? ¥ o), oDEPQ 9] {o]= 15

()

/ E
: ‘
® 7cm? @)9 cm? ® 10cm?
@ 12cm? ® 13cm?

B ~

1 1 1 1 1
P = —AGAB=—-Xx-2ABC=—x-x48=1 2
APQG 16AG 16X3A C 16><3><8 (cm?)
AGQD—APGE—1AGBD—1X1AABC—1X1X48—
- 4 476 476 B

2(cm?)
1 11 11 _ )
AGDE—ZAABG—4X3AABC—4X3X48—4(CH1)

~ ODEPQ =1+2+2+4 = 9(cm?)
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